
 

 

 

 

 

 

gFjp I 

01 33 , 38    02 
 

11 ,il = 10+15+ 23+ 17+ 35+ 20 
                        6 
                       120           =  20 
                          6 

01 
 
01 

02 (6 + 6 + 4 + 4 + 4 + 4) cm  
 
28 cm 

02 12   
02 

03 a + 500 + 900+ = 1800  

 

a + 1400  = 1800 

 

a = 400 

01 
 
 
 
01 

13 tpl;lk;  
 
miutl;lk; 

01 
 
01 

04 ( -12 ) 
 ( +2 ) 
 
( - 6 ) 

 
 
 
02 

14 20cm X 30cm X 10cm = 6000 cm3 
 
                                        = 6000 ml 

01 
 
01 

05 4 (3b-2) + 5 

12b – 8 + 5 

12b - 3 

 

01 

01 

15 80 X 5  = 400 
nkhj;j khk; goq;fspd; 

vz;zpf;if = 400 

01 

 

01 

06 √5 𝑋 2 𝑋5 𝑋 20 

                        

√(5 𝑋 2 ) 2 

 

5 X 2 = 10 

 

 

 

 

02 

16 5            12 

6            11 

10 

11 

01 

 

01 

07 { 1, 4, 9, 16, 25, 36 } 

  N (A) = 6  

01 

01 

17  09 : 30 + 9 kzp 30 epkplk; 

19 : 00 / gp.g. 7.00 

01 

01 

08 220 Kg 02 18 III. 8 cm , 9 cm , 12 cm 02 

09 4 km 02 19 P  :  Q  :  R 

4  :   6  :  5 

 

02 

10 1 X 8 X 6 cm 
2 

24 cm2 

 

02 

20 P + 2 = 4 X 3 

P + 2-2 = 12 -2 

P = 10 

01 

 

01 

X 



 

 

 

 

 

 

gFjp II 
 
(01)  i. vz; guk;gypd; = 157, 174  (G. 02)  ii. tPr;R = 179 – 135 (G. 01) 

jz;L ,iy tiuG = 139  150 (G. 02)     = 44  (G. 01) 
 
iii. Mfhuk; = 157 
 

 ,ilak; =  
153+157

2
   (G. 01) 

 
    = 155   (G. 01) 

 

iv. 
4

16
 × 100% 

 
  25%     (G. 01) 

 
b. i. Kf;Nfhzp ADC     ii. ehw;gf;fy; BCDE 

  40° + 70° +  𝑥 = 180° (G. 01)  80° + 70° + 70° + 𝑌 = 360°     (G.02) 

  𝑥 = 70°   (G. 01)  𝑌 = 140°       (G.01) 
 
 
(02) a) i. 𝐵 =  {𝑃, 𝑂, 𝐿, 𝑁, 𝐴, 𝑅, 𝑈, 𝑊}  (G. 02) 

 
ii. ntd; cUtpy; fhl;Ljy;   (G. 02)  iii. n(B) = 8 (G. 01) 

 

b) i. 9 (G. 02)  ii. 2 (G. 02)  iii. 
7

9
 (G. 02)  iv. 

0

9
 my;yJ 0  (G. 01) 

 

(03) a) i. 8.23 × 4.6 = 37.858 (G. 01)  ii. 0.0823 × 0.46 = 0.037858 (G. 01) 
 
b) i. 3𝑎(5𝑏 − 2𝑎)  (G. 02) 
 
 ii. 4(4𝑥 + 6𝑦 − 2) + 6 = 16𝑥 + 24𝑦 − 8 + 6  (G. 01) 

      = 16𝑥 + 24𝑦 − 2   (G. 01) 
 
 iii. 2𝑝 − 𝑞 + 8 = 2 × 2 − (−3) + 8   (G. 01) 

     = 4 + 3 + 8 

     = 15       (G. 01) 

iv. 
1

3
 (2𝑎 − 3) = 5 

 3 × 
1

3
 (2𝑎 − 3) = 5 × 3    (G. 01) 

 2𝑎 − 3 + 3 = 15 + 3 

 
2𝑎

2
=  

18

2
      (G. 01) 

 𝑎 = 9       (G. 01) 

,ilak; =  
16 + 1

2
 

     (G.01) 

(8k; cWg;G + 9k;; cWg;G) / 2 



(04)   
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 i. (G. 02) 
 ii. (G. 03) 
 iii. (G. 02) 
 iv. (G. 02) 

 v. 𝑃𝑅̂𝑄 ,d; ngWkhdk; = 58° (± 2°)   (G. 02) 
 
(05)   

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
i. Ms;$w;Wj; jsj;jpy; rupahff; Fwpj;jy;   (G. 01) 
 Gs;sp Fwpj;jy;      (G. 04) 
 Gs;spfis Kiwshf ,izj;J %ba js cUitg; ngw;Wf;nfhs;sy;. (G. 01) 
 
ii. x = 0    (G. 02) 
 
iii. a) 6 myF   (G. 01) 
 

 b) =  
1

2
 × 10 × 6  (G. 01) 

   = 30 rJu myFfs; (G. 01) 



(06)   i. = 40000 × 
3

10
 (G. 01) 

 
   = &. 12000  (G. 01) 
 

ii.  
8000

40000
=  

1

5
  (G. 02) 

 

iii.  
1

5
 × 100%  (G. 01) 

   = 20%   (G. 01) 
 
iv. = 40000 – (12000 + 8000) (G. 01) 

 = &. 20000   (G. 01)  (G. 02) 
 

v.  a) 
3

5
   (G. 01) 

 b) 20000 ×  
3

5
 (G. 01) 

       = &. 12000 (G. 01) 
 
(07)   i.  rkgf;f Kf;Nfhzp> rJuk;> nrq;Nfhz mWNfhzp  (G. 01) 

 
ii.  a) whrpf;  b) Wthdpjh 
 
iii.  cz;ik 

rkgf;f Kf;Nfhzpapd; 3 cr;rp> rJuk; 2d; cr;rp re;jpf;Fk; njryhf;fj;jpd; 
cr;rpg; Gs;spfs; xNu njhlu;gpy; mike;jpUg;gJ.  (G. 02) 

 
iv. tpspk;Gfspd; vz;zpf;if – 12 
 Kfq;fspd; vz;zpf;if – 07 
 cr;rpfspd; vz;zpf;if – 07 
 
v. Kfk; + cr;rpfs; = tpspk;G + 2 
  07 + 07 = 12 + 2 
  14 = 14 
  ,.g = t.g 
 xa;yupd; njhlu;G cz;ikahFk;. 

 
 


